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( +1.2 m)
86 1T N B K4 (WEEK-HER)10.92

N8 BE X (KIKAC-HER) 11,32
34 KNH KRR 4 CLk-HER) 11, 34
513N Brol 2 (MEFKHER 11,60

SE E i GRERER-HER11.70

20978 A E 1 (FhER-HER12.82
7710 H BB KRIC-EHER)13. 01

191 UK BVR 1 (REfR-HER)13.14

( +0.6 m)

135 Bk = 1 CREKR-HER)10.98

137511 32 A1 (REKR-K3R) 11,04

154/ o JIE (EFERT&FSER) 11. 46

97 /W KiE 2 (BER-ZWE) 11. 51
152 A MER 3 (GLEKR-AJIR)11.60
208 = A A 1 (W%ER-mER)12.19
286 Akt Bk 1 GAERIER-SHER) 12,25
280 AT sk F 1 GA ks 5ER) 13. 17

( +1.4 m)

202 AR A1 (RERE-HER) 11,27
320 57 BF i A7 1 (BRTRRAHER) 1147
72 31t (R (FEREG-SER)11.58
18 /N R R (BIZVACHRHE) Ri5
22 & (L #h 6 3 (R R- S ER) R
148 5 W 2+ 3 CIEKHER) Ri5
2831 JEE R 1 GERIER SER) Ri5
207 fa A BREA 1 (BfES-HER) K5
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( +2.1 m)

58 Y =2 KRR 2 (KA HER) 11,12
7445 R FE (BRIC-HEER)11.12
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10 W MY GEEESER Rig

N IR 3 BEER-HER) KI5
( +1.0 m)

20 4 FF REOK 3 (ilK-#ER) 10. 88
226 7% fd K3 (KE#&E-HER) 11.63

16 1) 1B (J777-55#)11. 82

271 g 35 (RERLHER11.91
281 #REH HH 2 1 (EXIER-5ER) 12, 44
222 FH 5 HEwk 1 (FhER-HER) 13. 21
1624 & &KX (GEEG LR XI5
134 ZHH B RER 1 (RIEK- B IR) KI5

(10#8] ¢ 0.0 m)

1[ 3]
2[ 4]
3[ 5]
41 6]
5[ 1]
6[ 2]
70 17]
8[ 8]

STk =258 4 (LHR-HER) 10. 80
83 R Il B 3 CREER-HER)11.05
16 /R R GRRIC-HER)11.23
151 9w A i 2 (SZIER- ) 11,57
246 3 Nr 1 (RERA-HER)11. 64
231 % 55 ok 2 (RERA-HER)12.06
321 fu el 1 (FR¥ERE5HER)12.20
284 )5 ZZBA 1 GRERIES AER) 12. 66



(11#8) ¢ +0.3 m)
10 4] 1314 gk 4L 2 CREUR- B3 10.79
2[ 5] 234/ fE B 2 (RERR-HER)11.46

3[ 8] 50N W %E3 (MEFKHER11.73
A 2] 206 B BH 1 (BhEs-HER)12.21
[ 1] 28752 M K1 GREAIEESEE) KRB

[ 3] 68IfEME & K3 (BERAHER RiG

[ 6] 94K ML fF4 BERBHER) XI5

[ 7] 304/ M W& 1 (Efis HER) K15
[13#8] (  +3.4 m)
1[5] 104 =% #5414 EGERHER)10.89
20 3] 125N ¥ &) 3 (KHEA-HER)11.03
3[ 4] M2%## {ht (A T.REER)11.22
41 6] 266/ 111 EFi 2 GREAIER SER) 11, 42
5[0 2] 102/ho% ZE 4 BEKHER)11.55
6[ 8] 294 = Iy k¥ 2 (ffss-swER)12.13
7011 20234k Fnth 2 (EREE5EE)12.96
8L 71 2894+ 1L KA 1 (hEANESHER)13. 49

(15#88] ¢ +0.5 m)
10 4] 129 &A% AR 2 CRECR-HiAR) 10. 92

(12#8] (. +2.4 m)
104) 130 F % BR2 OK-HiIAR)11.06
20 6] 32438 T4 CEHKRHER 1111
3L 3] 89k |Easf1 (wEEXRHER) 11,51
410 8] 194 7R #is 1 (REEA-HER)13.28
[ 11 27710 | fE 2 GRERIER-HER) Ri5
[ 2] 59 ik 4 (RKFHHH) Ri5
[ 5] 9&F WM iF4 (FREKR EFR) Ri5
[ 7] 204t W %1 (FhEs H5ER) Ri5
(14%8] ¢ +1.0 m)
10 6] 1267 & 453 CRHR-#HE) 10. 72
2[ 5] 128 f-Hja ootk 2 CRECR-#iER) 10. 85
3[ 4] 269 BIAR A~ 2 GamKIEA-5ER) 11,33
40 3] 52% Ji 523 (WEFRHER)11.58
5[ 11 175 /NAGRFHRML GROK - 2 HB) 1. 63
60 8] 270 m#& & — 2 (WAEX)EE HER)12. 56
10 7] 200 = [EHE 2 (iif%kes HER) 12. 68
[ 2] 303’ Jf  Rel (Wi HER) Rif

(1658 (  +1.7 m)

10 5] 136 < RFIR 1 OREKR-HR) 10. 80
20 3] 27145011 #£ A 2 GiER)Ea5ER) 11. 24
3[ 6] 465 it 3 (HEFRHER) 11,35

20 6] 114711 Fot O5ERef-HER) 11,00
3[ 3] 6574 M A1 (BERAHER) 11,34
40 5] 2134 ¥ Bh 2 GilklER-HER) 11. 60
5[ 1] 2283 ik % 3 (RERR-HER)11.80
60 7] 180 5 M #1353 (GIlm HER)12.67
70 8] 33377k AEwk 1 (F)lm-HER)13.54

[ 2] 20074 J5t g2 (WiER-HER) Ri5

[1748] ( -0.2 m)

1[ 4]
3[ 6]
4 2]
5[ 8]
6 7]
[ 3]

85 V4 % Jhth 2 CRFER-HER)11.05
17657 7 (TAC- Hifif] J%) 11. 69
22Tk & 3 (RERAE-HER)11.79
316 H A #h & 2 (FRFRRS AER) 12. 46
218 8 HER 1 GABKIER5HER) 14.16
161730 1 —  (Veloce HiER) Ri5

(1948] ¢ +1.5 m)

1[ 4]
2[ 3]
3[ 6]

19/ AR K 4 Otk - 57 £45%) 10. 98
66 1A KA 2 (BFERRHER)11.18
101 Hr il g5 M1 (B ER-HER) 11,35

40 2] 3342 — #2 ()ilm-HER)12.74
5[ 8] 301 £ A1 (iifkm HER)13.88

[ 6] 2135 ¥ BE3 GRiA-HER) Rig
[ 7] 212258 =& 1 (WhEsHER) Ri5

(2148] (  +1.9 m)

1[ 6]
2[ 4]
3[ 3]
41 8]
5[ 2]

12 (i %5 GRERIIER#5R) 10. 94
99 /MHE i 1 (R ER-EESR) 11,52
288 Il #wk 1 GABKIERHER) 11. 84
262 e & 2 GABk)ER-5HER) 12,02
149 Hr i ME#H 4 (LER-HER)12.29

[ 5] 2384 L1 7858 1 (RERR-HER) Ri5
[ 7] MO e Bk ORRRACHER) Ri5

41 4]
5[ 1]
6[ 2]
70 8]

[ 7]

(18#8] (

1[ 5]
2[ 3]
31 4]
4[ 6]
5[ 7]
6[ 2]
70 8]

(2048] (

1[ 3]
21 4]
3[ 6]
41 5]
5[0 7]
6[ 2]
70 8]

(22781 (

1[ 5]
2[ 3]
3[ 6]
41 8]
5[ 2]
6[ 4]
1[0 1]

[ 7]

90 H

332 3k i

43 74 %
305 K &%
198 A& H

168 111 H
166 F§ 2
109 7 H
40 3 %
241 % 1
293 5

23 g5 K

87 1 11

93 fiik #B

69 4= A

232 % R

318 i 5

213 & i

+1.5

+1.4

W E 5 (FEEK-HER)11.37
21 (s mER) 12,22
B IR 3 (HEFA-HER)12. 34
B fE 1 (s ER) 13. 40
g4 2 (FEs BER) Ri5
m)
#i o7 3 (BB R AR 10. 87
se2E A (BT K-mER) 11,08
4 GIR-FHER)11.21
B &2 (MEFKHER 11,42
FUE 1 (RERE-HER)11. 84
8t 2 (- HE5) 11,93
2304 (BREERKSER) 11,94
m)
R4 GEERHER) 11,04
2 BERHER)11.10
P 5 3 (BFRAHER) 11,34
5t 2 (RERA-HER)11.58
O 2 (FRYRRA 5ER) 12.03
L1 GifnER-wER)12. 36

302 oA Aiy 1 (s 55 R) 13. 74

133 5 H
115 fjt &%
111 7 AR
197 & ¥
290 1
45 |55 H
214 J fif]
164 77 1

+0. 3

m)

1E K 1 CRER-##) 10. 73
2 (BR-EER)11.01
s (A T.R-BEER)11.38
B2 (ER-sER)11.75
PEWH 1 GIEXIEE-SER) 11, 94
B2 (MEFKHER)12.10
H— 1 (if%Es-%E8)13. 40
Jrth OITEER- R £ 5) KR35



iR Rz (348)

(1#8)
1[ 5]
2[ 2]
3[ 3]
41 6]
5[ 1]
6 4]
[ 7]
[ 8]

[3#8)
1[0 7]
2[ 3]
3[ 4]
41 2]
5[ 5]
6[ 1]
71[ 8]
[ 6]

D AN
/A
e 3

(

-0.3
19 /v K

m)

K 4 Gl R-HER) 1. 01

13751 82 N1 ORIER- KR R) 11,02

113810
96 7 ik
87 1l

135 [ jik
115 fix &
1258 1fg

(

-0.4

Fod (RERER-HER) 11,02
H3 (BERHRE)11.14
HER 4 HEEKR-HER)11.18
BT CORR-HER)11. 20
2 (B ER) Rig
a3 CRIER-fER) Ri5

m)

136 12 2 RF5TR 1 (KEK-E5R) 10. 80
13340 B 1F K 1 CRHUK- 30 10. 81
126 & &

5 [l AR

131 42 fi
128 1o ks 2 ORBOR-#iB i) 10. 92
167 =8 Brfe 4 GRTaX-Zm%) 10. 93

31 #Z i

T8 3 CRHUR - ## i %) 10. 81
BT 4 CPRER- T58) 10. 85
L2 CRICR - 9kR) 10. 89

=5t 4 (HR-HER) Ri5

1

O JdOoO 1T~ Wi

INBZHEEZF 1 00m REEO048)

[148] (
1[ 2]
2[ 6]
3[ 3]
41 4]
5[ 5]
[ 7]

(3#H] (
11 2]
2[ 4]
3[ 6]
41 8]
5[ 3]
6[ 1]
10 7]
8[ 5]

136 12 ARF5HR 1 CRECK-EH) 10. 80 (0. 4)
1331 B 1E K 1 CRICR- ) 10. 81 (=0. 4)
126 9% 3 183 CRAUK-##i%%) 10. 81 (0. 4)

S AR B2 4 (FREXTER)10.85(-0. 4)
124 R4y 23 ORI E£1) 10. 86 (+0. 2)
1314 i AL 2 ORBUR-EH%) 10. 89(-0. 4)
128 i Jel ek 2 ORAUKR-#iiB1%) 10. 92 (-0. 4)
167 =i Bz 4 GiTaKR-7ni) 10. 93 (0. 4)

+1.8 m)
145 & 04 (0xZjirfER)15. 41
211 Hfie GRV775ER)15. 44
20 EfEIFON 6 (BRI 77 55K)16.18
28 K JIJIFENL 4 (Lo i e 55817, 11
TR BER4 O3+ 5ER)17.98
B EiE BE 4 Ot HER) Ri5

+1.0 m)
125 fhi%s (LEVa=7%%R)16. 44
2Kk H A4 (LEV2=7558)16. 49
42 % s (Lhie-BER)16.77
138 fE A5 (FEv==7%%8)16. 84
271 fA HF EFE 4 (Lo -5%ER) 16. 89
NP E HHEA (Lo HER)17.25
82 22 jk AN 4 (EMva=75%K)17.33
62 X #HEFH 4 WIWRCHER)17. 62

[248]
10 7]
2[ 1]
3[ 8]
41 6]
5[ 5]
6 4]
71 3]
8[ 2]

[24H]
10 7]
2[ 6]
3[ 2]
4 3]
5[ 4]
6[ 5]

[4%8]
11 1]
2[ 8]
3[ 2]
41 7]
5[ 4]
6 6]
71 3]
8[ 5]

( +0. 2
124 R4~
12 (L I
86 71 N
20 4 H
168 (L1 H
53 H
104 = =%
129 & #6&

m)
%23 (KK -HER)10.86
ZF GERSE4ER)10. 93
B oK 4 GFEEXHER)10. 94
FEK 3 (k- # %) 10.97
#8073 (BRAk- KR 1. 01
b 3 (KRR ER)11.05
il s 4 HER-HER)11.15
AR 2 CRIEK-HAR)11.16

( +0.3 m)
67/ &

( +1.4 m)

b i m 5 (LbZiEeHER) 15.
BT 5 (ENY2=7 5ER)15.
M7 6 (BEmER-SER) 16,
30 K b~ H 4 (LbZiEL5ER) 16.
FLAE 4 (LhZ L %ER) 16,
PEFN 6 (HEV2=7 5EE)16.
WHE B (LEY2=7 B0 17.
B34 (LhZEEHE1T.

84 <f H
91 M

31 B AR
19 /%
11 %K H
29 & M

JR 5 (DA% jr-EER) 15.

KA HiE4 (LRV2=78518)17.
12 EEO T 4 (DAL HER)1T.
69 & 1 W6 (DAFrHEE)1T.
268 T ER4 (LoZiEEHER)1T.
A5 KRR AL AR 5 (LbZIEE-5HER)18.

69
01
09
11
83
17

13
91
11
31
47
48
03
10



[54H] (
1[ 6]
2[ 5]
3[ 3]
41 7]
5[ 1]
6 4]
1[ 8]
8[ 2]

[(7#8] (
1[ 5]
21[ 4]
3[ 8]
4[ 6]
5[ 3]
6 7]
71 2]
8[ 1]

[94R] (
1[ 4]
2[ 8]
3[ 2]
41 3]
5[ 6]
6 7]
70 1]
[ 5]

I AN
[] RAXy |

1 14k
48 F 1L
178 &
83 il
15 &
85 KW 11 6 (ENVaz75ER) 14.47(+1.4)
67vxn %75 (bev2=75ER) 14. 47 (+0. 6)
49 KRBT 6 (LbZiEL %ER) 14. 49 (+0. 6)

INEEFTF 10 0m RE(1048)

O J O 1k Wi

(14R] (
10 7]
2[ 8]
3[ 4]
41 2]
5[ 3]
6 6]

+2.1
8t
79 &5

m)
fif 15 (FEV2=7-%%R)15. 99
B 74 (BNV2z7%FE)16. 03
1R 4 (LEY2275F8)16.12
SOHT H (M5 (LhoiEe%EE)16.19
9 RHIARKE SR 5 (L2Va=755K)16. 47
3 RE S5 (LhIiEL-#ER)16.52
109 8 J) 35 (FEva=7-%%K) 16. 54
51t #iske (LbZie-HE8)16.77

+1.1  m)
54 Him EAK 6 (LbZie-#ER) 14,91
JTHE M ET5 (LblHewER)15.27
89 A FEAL6 (BEMERFER)15.75
AT -8 dAE 5 (LhZiE-BER)15.77
16 A H #3326 (Ev2=74%%)15. 96
90 K& K 1E6 (BiiliEG 558)16.08
46 2 H mi 5 (Lhziie-%#EK)16. 14
18<F H fEWE6 (LEV2=7-5ER)16. 45

+1.4 m)

48 fril fEE6 (LhzifrHER)14.12

17 2 &7 5 (EEvaz75%8)14.22
85 K F{E1 6 (ENV==75%8H) 14.47
MR 5 (LhziEe%ER) 14,55
81k mehd 6 (EMVa=755R)14. 75
80/ H H =6 (ENvaz75ER) 14.84
68 1% HEFH 4 (OAFrHER)1T. 48
16 %5 )11 fE32 6 (LRVazT BER) Ri5

19 B8 R

A 6 (LBV2=755%)13. 74 (+0. 6)
fiti 2 6 (LbZHLHER)14.12(+1.4)
&5 (LBV2=755R) 14,22 (+1.4)
A ifE 6 (ENY2=7-55K) 14. 32 (+0. 6)
FE 6 (LRV22753R)14. 38 (+0. 6)

+1.3

m)

16 /1 |5 i 6 (0htjr5#ER) 15,31

108 K 6 (0hFir-%5ER)15.74
4017 H 6 (44777 %%R)16.59

15 RE SREE 4 (0AZjr 1R 17. 37

9 M — A4 (LRV2=7-5EH)17. 61

R E 5 (bEV2=74£5)18.35

[64H]
1[ 4]
2[ 7]
3[ 3]
41 8]
5[ 5]
6[ 6]
1[ 2]

[8#H]
1[ 4]
2[ 3]
3[ 6]
41 5]
5[0 7]
6[ 8]
11 2]
8[ 1]

(1048] (

11 4]
2[ 6]
3[ 5]
41 7]
5[ 8]
6 1]
11 2]
8[ 3]

[248]
1[ 3]
20 7]
3[ 4]
41 5]
5[ 6]
6[ 2]
110 1]
8[ 8]

(

(

(

+1.3
25 5 W OER4S 4 (Lo e 5ER) 14,
36 /i EEE 5 (LbZiHL&HER)15.
658 M E£09 6 (FIWRC-HER) 15.
S5 /NEEFE ) 6 (Lo L 5HER) 15.
18 dr M & 16 (ENva=7 5ER)15.
70 5E 0 1 AE 6 (DA% jrHER) 15,
50 7% I @ 6 (LbIIEL-5ER)16.

m)

+2.9
405 B ES (LhzieHER) 14,
178 8 W6 (LRVa=7-4ER) 14,
56 KZhEM 6 (LhZiEL #ER) 14
43 B R E 5 (LhZiHe-HER) 14,
34 M Fam 5 (LbziEl HER) 14,
151718 B 326 (Elva=74558) 14
3841 WHAES (LbZik #HER)15.
5348 4 =6 (LhziL %ER) 15,

+0.6 m)

14711 HFE 6 (FRV2=7 5ER)13.
83 Il H g e (Elv==7-5%K) 14.
158 BEEG6 (LRV2=7 55K 14,
6V xn #7565 (FRV2=7-5ER) 14
49 R TFHEE 6 (Lhzife 5ER) 14,
445 [/ S (LhoiEe5ER) 14,
61 K FLA6 (RIWRCHER) 14
52k A #fEfE 6 (LoZIEE-5ER) 14,

m)

+1.3 m)
9JIAT M FE6 (ARV775ER) 14
6% M FFE4 (ERV2=75ER)15.
A5 H fFE 4 (LEV2=TBER) 16,
18N H Fokab (FRV2z7 55817,
95 A FF K5 (BRMERHER)17.
5B  F B4 (LEV2=7-5ER)17.
4 5K FH4 (Lo HER)18.
T/ R 4 (EEYV2=75%8) 18.

87
15
32
14
85
87
28

63
66
n
84
87
92
14
22

14
32
38
47
49
51
52
62

32
65
55
35
19
97
04
08



[3#H]
1[ 6]
2[ 1]
3[ 3]
41 4]
5[ 5]
6 8]
10 2]
8[ 7]

(54H]
1[ 6]
2[ 8]
3[ 7]
41 3]
5[ 1]
6 4]
1[0 5]
8[ 2]

(7#8)
1[ 4]
2[ 5]
3[ 1]
41 7]
5[ 6]
6 8]
1[0 2]
8[ 3]

[948]
11 3]
2[ 8]
3[ 5]
41 6]
5[ 4]
6[ 2]
710 1]
8[ 7]

D AN
/A
] TRy |

1 b1E4G
59 & 10

O dOoO 1T~ Wi

(

(

(

(

242

+1.6
344 H
17 % j
86 ¥ H
45 /)~
35 3k &
52 1% i
16 H
81 1L 1

+2.5
31 7 B
62 FE 4+
82 ¥z H
15 #
327 A
87 47 #k
2 KD
92 11 A&

+1.0
1475 B
63 AT
60 = 1
43 7B
21 /)1
28 ¥ i
29 =5
83 7R iR

+1.6
57 & 1

[AREE

m)

m)

m)

i 82

m)

K—6 (LRVa=75ER) 15.
5 (FRY2=75ER) 15.
Ot BE 4 EMYa=7558) 15.
EX R4 (LbZHHE-HER)16.
E A6 (bRY2=755R) 16.
75 — 5 (LbZiIL %ER) 16.
KIE 5 (LEV2=75ER) 16.
fdt K 6 (Efy2=7%%%) 16.

bR 6 (LEY2=7850)15.
Kk:6 (LhZiEL-HER)15.
KA 4 (ENY2=75FR)15.
TF#ES (FBV2=7 %5R) 15,

W6 (FRY2=7558)16.
#EIK 5 (ElYa=7 %E8)16.
B4 (FBY2=7550)16.
s X 5 (EfY2=7%F8)17.

P 5 (FRV2=7BER) 15
AR 6 (LbZiEE #ER)15.
B2 N6 (LbZie-5#ER)15.
k4 (LoTHEHER)15.
5 (LEV2z75ER) 15.
taé% 6 (J:F%/;:Tfﬁfﬁi\HS
WEE 6 (LEV2=7%#3R)15.
FE K 4 (BlV2=7%%K) 15.

B %6 (LhZift&ER)13.
M 2f 5 (bBY2=7 5ER) 14,
89 1 2 RK¥E 6 (EMVa=75ER) 14.
88 Fi bk K5 (ENY2275ER) 14
64 B R REk6 (LoZiEeHER) 14,
69 B K kK6 (DA HER) 14,
50 75 i 1K 5 (LhZil #ER) 15,
12 1 K6 (0hsjr-5ER)15.

06
06
61
04
24
39
15
98

21
26
57
10
06
10
51
18

00
12
23
26
317
39
45
85

47
21
50
62
12
83
13
66

B2 6 (LbZHE-5ER)13. 47 (+1.
RN 6 (LHZiEL 5ER) 13,65 (+1.
10 RASRER 5 (Ley2=75%R)13. 85 (+1.
58 /N[l Tl K 6 (LHZHEL 5ER)13. 87 (+1.
756 (LBV2=755R) 14,14 (+1.
=S Hl )5 (BEV2=7-558) 14, 21 (+1.
25 fif] A KK 6 (Leya=7 HER) 14,27 (+1.
9IS Jal 57 6 (AR 77-HER) 14.32 (+1.

6)
4)
4)
4)
4)
6)
4)
3)

[44H] (
1[ 4]
2[ 2]
3[ 5]
41 7]
5[ 6]
6[ 1]
1[ 3]
8[ 8]

[64H] (
1[0 1]
2[ 2]
3[ 5]
41 6]
5[ 8]
6 3]
10 4]
8[ 7]

[8#H] (
11 8]
2[ 5]
3[ 4]
41 6]
5[ 2]
6 3]
70 1]
8[ 7]

(1048] (

11 3]
2[ 7]
3[ 5]
41 6]
5[ 2]
6[ 8]
70 1]
8[ 4]

+1.3 m)

AT R Sk 5 (LbhZi3e HER) 15.
96 #A AT £ B 5 (BEMER-HER) 15,
538 M A A5 (LhZiEL HER) 15,
46 55t FESr 4 (Lo i -HER)15.
A FEXFEF 5 (LI HER) 15.

3’ B # 4 (LRV2=7855R)16.
33 11 Wt 6 (FRV2=75EH)16.
66 11 A B 6 (LhziiL%ER)16.

+1.5
17 71n B
56 #% 3
=
ARGES
13 fh H
30 i i
85 17 4t
157 H

0.0

m)

%5 (DA% jr&ER) 14,
fEE 6 (LhZlEe HER)15.
BE K 6 (EflY2=7-8%8)15.
ZRIE 6 (DAL jrsER) 15.
HE Sk 6 (0AZjr s ER) 15.
K226 (FEY2=755E)15.
BOR 4 (ENY2=75E8) 15,
FEA 4 (LBY2=7 %) 16.

m)

55 KK KEBA 6 (LbZiie-5ER) 14,
1254 FEN 5 (FRV2=745R) 14
138 £ FH 5 (LeV2=7%5R) 14,
80 & ¥ BEFR 6 (EMVa2=7-5ER) 14,
84 =ty K 4 (BlY==755E)15.
21 K B 36 (LRV2=7558)15.
145 1% & 4 (OALiHER)15.
36 5 M M6 (LEV2=7558)15.

+1.4 m)

59 P30 WA N 6 (LbZIE-HER)13.
10 RAMRER 5 (LRY2=7 5ER)13.
58 /NIl W KE 6 (LbZIEE-HER)13.
2472 ¥E 156 (LRV2=755E) 14
25 [ A & K 6 (LEV2=27558) 14,
65 I A K6 (LbZiEEHER) 14,
26 55 —#t6 (LRV2=755K) 14
54 0 K6 (LhZiEk %ER) 14

38
63
65
84
93
05
47
56

80
25
25
29
63
13
15
16

82
88
93
98
03
10
30
33

95
85
81
14
2]
35
57
68



hFEZF 8 0 Om R (440)

[1#8] [248]
1011 1% R (LRET-SER)2:29.05 1[0 1] STH=EB RS (Rili-%H£R)2:33.85
20 4] 13FA [ BEA 1 (LREP-%ER)2:45. 88 20 6] 4195 % 31 (KPH-5ER)2:38.76
3[8] 28 HHET2 (KaH-HER)2:47.37 3[10] 12 uA EMH 1 (LEEP-%ER) 2:40. 30
47 9] 99 K B 1 (FAEET-5ER)2:47.58 AL 7] T0OHH X1 BIIT-HER)2:41.43
50 3] 18FF 1t M1 (LEmMT-%ER)2:47.79 509] 5084 #VHE3 (KTH-fHER)2:43.04
6[ 5] 109 hnpkeE 2 1 CERRERT-HER)2:48. 24 6 2] 49HT H i 3 CRFEH -5 ER)2:43. 07
7010] 135N #8 A& 1 (LFd-%ER)2:51.99 70 3] 91 KAWH 074 2 (R 5ER)2:43.40
8[ 7] 1074 Hh J 3 GEMEERT %EE)2:56.83 8[11] 133 AHHmES 1 (LFf-HER)2:44.07
O[ 6] 143% i £HfE1 (LEh-BER)2:56.88 9[ 4] 30# HF E2 (KAP-HER)2:44.45
100 2] 93KE M ¥ k2 (FAEET-%EE)2:58.96 [ 5] 69fRE L HE 1 GBIF-HER RIG
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